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#1-5 Multiple Choice | Peach)

1. Which definite integral is the area bounded by the graphs of y = x2 —6and y = —x?

a) [2, (—x®+x—6) dx

r
b) fZ (—x*+x—6) dx
o [ (~x*-x+6) dx 3 / X~ ()
g VI
S2, (~x* —x +6) dx /// x KX +o

&) [/ (-x*-x—86) dx )(9—_ (9 =X

X+x-lo=0
(X+DA-D=0
X="2 X=2

2. The base of a solid S is the region bounded by f(x), x — axis, x = 1 and x = 3. Cross-sections
perpendicular to the x — axis are rectangles with height equal to three times the base length.
Which of the following is the volume of S. —(2 )

a) lim,_ X%, f(x]) Ax
b) limyeo T X0k F(x])? Ax

@limm 3T, F(x])? Ax

d) limn-om 32?:1 f(xi-) Ax

e) limy e 37T, F(x)? Ax 20
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3.

4.

3
Consider solving the integral [ ﬁdx. After making the appropriate trigonometric

substitution, which integral must be solved to complete the solution?

,\5 _yd
@f1zssin39 de IQ'I' X=63'|ﬂ@ 25 X

by fE22 4 Jx=5cosd 6 25- 253170
= No5(1-5in"e)
s LSIre Siehds N 25056
d) [125tan?6 do Yy HCcost
e) [125tanfsiné d@ C
S 135S A0

A circular swimming pool has a diameter of 24 ft, the sides are 5 ft high, and the depth of the
water is 4 ft. Which integral is the work done in emptying the tank from the top of the pool?
(Water weighs 62.4 pounds per cubic foot.) Let y = distance from the bottom of the tank.

) [ 62.4(12)%n(5 — y)d 2 '
a) [, T yiay oo+ v: dehsﬁj 0 A?O“-*
N -4 "f'F"'
o 62.4(12)%(5 — y)dy
< B o~
¢) f, 62.4(24)*n(5 — y)dy 9 =T 2
d) [ 62.4(14)2n(5 — y)dy H . -T( Ia)

e) J 62.4(12)2(5 — y)dy

q -
\/-_—f(og, v (3 (5-y) dy
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5. Consider the integral [ fz%c dx. The partial fraction decomposition would be:

) [ S__.__“‘ w = (+ 2 dx
X
T X () X+

x x+1

c)f§+;—+11dx X-.-‘ A —‘. B

—
—

ofivar XA X )

OFa% o niai) +R0
X = Ax+A+ B x
=A+B —p -4
1= A 53
= 9=
#6 True/False (_(l’{ Po'l n‘%S)

6. A solid is formed by revolving the region bounded by y = v/x and y = x about the x — axis.

a. The shape of the cross section is a washer. FALSE
b. To find the volume, the following integral is used: FALSE

V=11'J;1(x—x2)dx
: A% A== 2
(‘W/ @: = (B (A
0= w(x-2)
I
\/:“50 T (-3 d X
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#7-9 Free Response/Partial Credit C P, @aCh\

7. Evaluatef sin® x cos® x dx.

SS\Y&S‘\Y?XCoS"ﬁ X
Csint(Fodxmosxdx —
let U=CcosX — oS, @S
du=-5\NAX '|| -7 T G g

- S (- )’ du
=5 u“’—u%(\,lu

74
+C

8. Find the average value of f(x) = sin 4x on the interval of [—n, ).

I
Gug NOWE = —\-—‘gb (AN
% N

b—a
YT
"'{_T— SinHx
= aT [COSLU(

pa——

- g\",.l: { Cosld) +cos(—‘1]
5 ( = 5-(0) = [0]
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! : ke limg J—]
9, Evaluate flwxlnxdx. State if the integral converges or diverges. Hind : Faclor bk s

o diontinurky 0 p0)
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